Total Synthesis of (+)-Leonuketal
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=
How would you synthesize the
starting material from geraniol? X

OH

1) Cp,TiCly Zn then aq. KH,PO4
2) ethylene glycol, TsOH Hint: steps 2-5 overall epimerization sequence
3) DMP, pyridine
4) L-selectride
5)

aqg. HCI

6) TsNHNH,, PPTS

7) MelLi
8) TIPSOTf, DIPEA
9) MelLi, CH,0
10) MsClI, Et3N
Nal

Step 7: Name of the reaction

l6—13

11)
12) NaH, 1
13) TsOH then K,CO4
o)

) OTBS
OEt

(x)-Leonuketal
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Step 14: Suggest possible mechanism
Step 15: proceeds with epimerization
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(+)-Leonuketal




